1A

4
T

NE MdH
Eutst SA0| BAE|= 2 Zpi0 E2L I|AE 2ot EIM2E Atolo] 213 29| Zo|
CheFstr M EiCt

A e
aze T-& 20| ofsl £ £ B2 £ a7t
=T ZIEHSICH 502 R{E=™Mo| 2Tesic)
o x El odx O|AFOd x " N
" GHIE) AW, WHE, B A = B2{1 AHEYS Y HO2 57 Lkt
HEYRE o3l RS 21T aICjo melct,
odx AE|l 0k O|AFCd %
== 'IEI—E, = 'IEl, |_||_|'|:| 7('Ial o gte ©e
2z HE FE
= AE| XM (ISO 4035/8675) 2 Zp{a HEYU2 st EaE MES
x| et=ct
WS, WS, WS,
) /
™\
1 U“T — — {l o
o 2\ v
Ly l l2
l3 ls
L4 L
a3 72
F2 gy
FIPS ws suyay steEnes F
d d d I I I I I ws, Ws X &3
1 2 3 1 3_‘_|2¢ 3 3_‘_|4¢ 5 1 2 =|CH |l
[mm] [mm] [mm] [kN] [a]
235 EtQl- a2l 1
M 6 21,0 - 37,5 11,0 14 9,0 18,0 19 10 0,6 2,5 44 25100.0006
M 8 26,0 - 45,0 13,5 17 11,5 22,5 24 13 0,7 4.5 86 25100.0008
M10 30,0 - 56,2 16,0 20 16,0 29,0 27 17 0,7 6,5 147 25100.0010
M12 32,5 - 66,7 21,0 25 17,0 34,0 30 19 0,8 10,0 208 25100.0012
M16 390 - | 830 250 30 230 420 36 24 10 18,0 383 | 25100.0016
M20 440 - 935 200 35 | 235 455 41 30 10 30,0 571 | 25100.0020
M10 x 1,25 30,0 - 56,2 16,0 20 16,0 29,0 27 17 0,7 6,5 147 25100.0030
M12 x 1,25 32,5 - 66,7 21,0 25 17,0 34,0 30 19 0,8 10,0 207 25100.0032
M16x15 390 - | 830 250 30 230 420 36 2 10 18,0 384 | 25100.0036
M20 x 1,5 44,0 - 93,5 29,0 35 23,5 45,5 41 30 1,0 30,0 576 25100.0040
ILEAL EFQl - Tl 2
M 6 21,0 11,0 37,5 11,0 - 9,0 18,0 19 10 0,6 2,5 47 25100.0056
M 8 26,0 14,4 45,0 13,5 - 11,5 22,5 24 13 0,7 4.5 91 25100.0058
M10 300 190 562 150 - | 160 290 @ 27 17 07 6.5 160 | 25100.0060
M12 325 212 667 175 - | 170 | 340 30 19 08 10,0 223 | 25100.0062
M16 39,0 27,0 83,0 22,0 - 23,0 42,0 36 24 1,0 18,0 401 25100.0066
M20 44,0 34,0 93,5 25,0 - 23,5 45,5 41 30 1,0 30,0 606 25100.0070
M10 x 1,25 30,0 19,0 56,2 15,0 - 16,0 29,0 27 17 0,7 6,5 159 25100.0080
M12 x 1,25 32,5 21,2 66,7 17,5 - 17,0 34,0 30 19 0,8 10,0 221 25100.0082
M16 x 1,5 39,0 27,0 83,0 22,0 - 23,0 42,0 36 24 1,0 18,0 400 25100.0086
M20 x 1,5 44,0 34,0 93,5 25,0 - 23,5 45,5 41 30 1,0 30,0 601 25100.0090

540 NHALDER





